The following are due Weds, Oct 21. Focus on writing the solutions concisely, completely and

neatly. Have someone else in the class check your work. Please follow the usual rules for homework
(see instructions on web page—e.g., 8.5x11 paper, stapled in the upper left corner. NOT crowded

7

etc.). Neatness counts!
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11.

12.

For the sequence {a,}, describe in a sentence the difference between
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. Compute (if you can)
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50: cos(3n)
et 1. F (1.5)»
converges or diverges.
. Compute
sl 3n+2
=
. Compute the radius of convergence of
i 3"z + 2)"
3
n=0 o

. Compute the fourth degree Taylor polynomial of In(z) centered at z = 3.

- Determine the maximum error between the fourth degree Taylor polynomial of In(z) at z = 3

and In(z) for 3 <z < 4.

. What is the Taylor series centered at zero for e~ 7

. What is the Taylor series centered at zero for the function

f(z) = fe " dg.

Find the tangent line to y = 22 — 3 at 2 = 1 (This is a Calc 1 problem, but you now have a
really quick way to do it!).

What is the maximum error between the tangent line and the function in the proceeding
problem for 0.9 < # < 1.1. Then repeat the problem for 0.99 < z < 1.01.
Explain the following, commonly used statement:

“The difference between a tangent line to a function and the function is quadratic in the
distance from the point of tangency.”
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